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01. x=2%+ log 1.000 =32+ 3 =35 . Gabarito D.

02. Substituindo d =16 na fungéo Q =log, d, temos:

Q=log,16 =>Q=l0og,2* = Q=4-10g,2=>Q=4-1=>Q=4.
Gabarito E.

03. Tem-se que log 288 = Iog(25 -32) = IogZ5 + Iog:%2 =5-log2+2-log3 =5x+2y. Gabarito B.

04. Gabarito A.

log (%) +log (gj +...+log (%) =logl-log2+log2—-log3+log3—-log4+...+10g998 —10g999 +10g999 - 10g1000
= logl-1og1000
=0-3
=-3

05.
Se logz(x—y)=5, entéo x—y:35 = X-y=243.
Se logs(x+Yy) =3,, entéo x+y:53 = X+y=125.
_ _ X+y =125
Do sistema linear segue que x=184 e y=-59.
X—Yy =243

Logo, log,(3x —8y) =log,[3-184 —8-(-59)] =log, 1024 = log, 210 =10 -log, 2 =10-1=10. Gabarito E.



